
k|j4fgTds If]q -cf=j= @)&#÷&$_ 

 

 
cf=j= 073÷074 df k|j${gfTds If]qsf] nflu ljlgof]hg ug'{ kg]]{ k"+lhut ah]^ af+sLsf] 

40 % /sdsf] nufgL 

 
1 k")f{ vf]k cleofg       50,000.00  

 

2 j]ltgL l;d;f/ Joj:yfkg -hn jfo' kl/jt{g 

cg's"n_ 

      362,046.20  

 

5 snf ;flxTo ;+/If)f Pj+ :yfgLo kqsfl/tf 

k'/:sf/ 

     150,000.00  

 
  j*f :t/l/o km"^jn ;Grfng      150,000.00  

 
6 ljljw v]ns'b ljsf; sfo{qmd      150,000.00  

 

4 gu/sf] ;"rgf ;+k|]if)f Pj+ :yfgLo ;fd'bflos 

/]l*of] ;fem]bf/L sfo{qmd 

     100,000.00  

 
8 *lDk~ ;fO{^ Joj:yfkg      300,000.00  

 

9 xf^ahf/ Joj:yfkg d+unjf/] ;+o"Qm s[lif tyf 

kz' ahf/ 

     400,000.00  

 
10 xf^vf]nf ahf/ Pj+ uf};vfgf Joj:yfkg      200,000.00  

 
11 zlgZr/] ahf/ Joj:yfkg      150,000.00  

 
15 ^f]n ;"wf/ ;ldlt u&g       50,000.00  

 

16 j*f gful/s d~r Pj+ gful/s ;r]tgf s]Gb|sf 

kbflwsf/Lx?nfO{ cWoog cjnf]sg 

     100,000.00  

 

21 ;fj{hlgs ktL{ hUuf v'Nnf If]q lgdf{)f gu/sf] 

xl/ofnL k|j${g / j[Iff/f]k)f 

      50,000.00  

 
22 pnf{jf/L ljsf; ah]^ k'l:tsf k|sfzg      150,000.00  

 
23 gu/ k|f]kmfon tof/      500,000.00  

 
  hDdf     2,862,046.20  

 

;fdflhs cfly{s tyf k"jf{wf/ ljsf; sfo{qmd -cf=j= @)&#÷&$_ 

 

 
cf= j= )&#÷)&$ df cfly{s ;fdflhs Pj+ ef}lts k"jf{wf/ ljsf;sf] nflu ljlgof]hg 

ug'{kg]]{ k"+lhut ah]6 afsLsf] ^) k|ltzt  

 

1 pnf{af/L 6 yfkfrf}saf^ zlgZr/] ahf/ hfg] 

af^f] *«]«g lgdf)f{ 

1,000,000.00 

 
2 lrN*|]g kfs{ lgdf{)f 700,000.00 



 
3 ;*s aQL  Joj:yfkg 500,000.00 

 
4 ;'gemf]*F l;/fg k}lg lgdf{)f j*f g+ 8 7,93,069.00 

 

5 ;'gemf]*f af;]rf}l/ e'l;*f*f x'b} ;fnaf/L ;Ddsf] 

k}lg lgdf{)f j*f g+ 9 

500,000.00 

 
6 #)^f#/ lgdf{)f 8,00,000.00 

 

&'nf] of]hgfdf hDdf vr{    4,293,069.00  

 
  

nlIft ju{ sfo{qmd -cf=j= @)&#÷&$_ 

 

cf=j= 073÷074 sf nflu k|:tfljt nlIft ju{sf sfo{qmdx? 

 

dlxnf ju{ nlIft sfo{qmd 10 k|ltzt 

 

qm=; ljj/)f ljlgof]lht /sd ;+zf]lwt 

 

    

 

1 k|:tfjgf n]vg tflnd 5 lbg]      50,000.00    

 

2 lszf]/Lx?nfO{ (After SLC) 3 dlxg] Office Package 

Computer  tflnd 

    100,000.00    

 

3 gu/ ;dGjo ;ldlt a}&s ;xlhs/)f      20,000.00    

 

4 ljBfnodf lszf]/Lx?sf] nflu :jf:Yo ;DaGwL 

lszf]/L d}lq Kofs]h 

     45,000.00    

 

5 dlxnf ;'Ts]/L kf]if)f                   

-hGd btf{ 35 lbg leq u/] jfkt_ 

     123,787.00    

 

6 dlxnfx?sf] nflu dvdln h'Qf rKkn agfpg] 

tflnd 

     125,000.00    

 

7 Psn dlxnfsf] nflu lhljsf]kfh{g      50,000.00    

 

8 dlxnf *<fOleé tflnd      117,000.00    

 

9 P*efG; l;nfO{s^fO{ tflnd 1 dlxg]      50,000.00    

 

10 s'zg *n agfpg] tflnd      75,000.00    

 

11 gf/L l;h{gf ;xsf\/L ;+:yfsf] ejgsf] dflyNnf] 

tnf yk ug]{ sfo{df ;xof]u 

     50,000.00    

 

12 ;]km xf]d Joj:yfkg       30,000.00    

 

13 16 lbg] dlxnf lx+;f lj?$sf] 

cleofg÷c=>=d=lbj; dgfpg] 

     30,000.00    

 

14 sfuhsf] Shopping Bag agfpg] tflnd       85,000.00    

 

15 dlxnf xs tyf clwsf/ ;DaGwL z;lQms/)f 

tflnd  

     30,000.00    

 

16 dlxnf elnan÷k'm^an cfof]hgf      40,000.00    



 

 (fsf ;fl* aGg] tflnd       8,00,00.0  

 

hDdf   1,100,787.00    

 

   

  

 

 

afnaflnsf nlIft sfo{qmd 10 k|ltzt 

 

qm=; ljj/)f ljlgof]lht /sd   

 

1 afns]Gb|x?sf] nflu afn kf]if)fo'Qm vfhf -15 

j^f afns]Gb|x?nfO{ ?= 25,000.00 sf b/n]_  

300000.00   

 

2 afn kf]if)f Kofs]h -hGd btf{ 35 lbg leq u/] 

jfkt_ 

200000.00   

 

3 afn ;`hfn Joj:yfkg 10000.00   

 

4 afn clwsf/ ;DaGwL 9 j*Ffd} xf]l*é af]*{ 

lgdf{)f 

150000.00   

 

5 afn>d d'Qm gu/kflnsf agfpgsf] nflu 

ljifout sfof{nox?, ;/f]sf/jfnf lgsfo / 

;DaGwLt ;+#–;+:yfx?;+u %nkmn tyf cfjZos 

sfo{qmd 

55000.00   

 

  h]x]Gbf/ nlIft ljBfly{x?nfO{ z}lIfs ;fdflu| / 

kf];fs sfo{qmd 

55000.00   

 

  jfnaflnsfsf] cGt/lglxt Ifdtfsf] ljsf;sf] 

nflu jfn k}ltef k}ltof]lutf sfo{qmd 

100000.00   

 

6 ;*s afnaflnsf / nlIft Joj:yfkg sfo{qmd 30787.00   

 

7 gd'gf afn cf>dnfO{ jfn kf]if)f sfo{qmd 150000   

 

8 zflGt lg=df=lj= ^\o'j]n lgdf)f{ 20000.00  

 

 jfn Sna k'g/u&g / e]nf 30000.00  

 

hDdf   1,100,787.00    

     

 

cflbjfl; hghflt ljsf; sfo{qmd -15 k|ltztsf] 34 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd   

 

1 22 cf}+ ljZj cflbjf;L hghflt lbj; lbj;sf 

lbg cf=h= h]i& gful/s ;Ddfg 

50000.00 

  

 

2 cflbjf;L hghfltx?nfO{ 169 cfO{=Pn=cf]= 

;DaGwL sfo{qmd 

50000.00 

  

 

3 lel*of] ldlS;é tyf O{l*l^é tflnd -3 dlxg]_ 200000.00   

 

4 cfw'lgs l;nfOs^fO{ tflnd a'l^s tflnd 147,133.00   

 

5 P*efG; sDKo'^/ tflnd -3 dlxg]_ 114268.00   

 

   

 



 

hDdf     561,401.00    

4 

 

 

 

blnt ;d'x -15 k|ltztsf] 19 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd   

 

1 sDKo'^/ dd{t tflnd  100000.00   

 

2  df]afOn dd{t tflnd 115000.00   

 

3 pB\#f]if)f tflnd 53724.29   

 

4 ckfÎ blnt % hgfnfO{ l;nfO{ d]l;g lbg] 50000.00 

 

 

hDdf     313,724.29    

        

 

h]i& gful/s nlIft sfo{qmdx? -15 k|ltztsf] 19 k|ltzt_ 

 

qm=;+= ljj/)f ljlgof]lht /sd   

 

1 h]i& gful/ssf] ejgsf] hldg d'lgsf] sfo{ ug]{      233734.29    

 

2 h]i& gful/s ;Ddfg sfo{qmd 80000.00 

 

 

hDdf    313,724.29    

      

 

ckfé ju{ ljsf; sfo{qmd -15 k|ltztsf] 15 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd   

 

1 ckféd}qL zf}rfno lgdf{)f      50,000.00    

 

2 u'*Lof, s'zg agfpg] tflnd      85,000.00    

 

3 xft] l;k ;DaGwL tflnd dvdln h'Qf rKkn      75,000.00    

 

4 sfof{no Joj:yfkg      10,000.00    

 

5 ljifout sfof{no / ;/f]sf/jfnf lgsfo;+u 

cGt/s[of sfo{qmd 

      27,677.00    

 

hDdf    247,677.00    

     

 dw];L / d'l:nd ju{ ljsf; sfo{qmd -15 k|ltztsf] 13 k|ltzt_ 

qm=; ljj/)f ljlgof]lht /sd   

 

  db/;f thnljb'n s'cf{g sDkfp)* #]/faf/f 

lgdf{)f 

100000   

 

1 df]afO{n dd{t l;kljsf; tflnd 114653.47   

 

hDdf    214,653.47    

 



lg0f{o g+= !* 

:yfgLo ljsf; z'Ns -nfut ;fem]bf/L sfo{qmd_ cf=j= @)&#÷&$ 

 

 cf=j= @)&#÷&$ df :yfgLo ljsf; z'Ns nfut ;fem]bf./L sfo{qmdaf6 a]xf]l/g] of]hgfx? 

 
1 j/uf%L rf}sb]vL bz{g rf}s;Dd sfnf]kq] 27,17,000.00 

 
2 j*f g+ 5 efg'dfu{ * «]g lgdf{)f 15,00,000.00 

 

 3 yfkf rf}saf^ pQ/ hfg] k'j{ klZrd hf]*\g] 

af^f];Dd sfnf]kq] 

15,00,000.00 

 

4 s[lif ljsf; a}+s pQ/ x'b} :s'n*f*f;Ddsf] af^f] 

sfnf]kq] j*f g+= 2 

15,00,000.00 

 

5 k'j{ klZrd nf]sdfu{af^ pQ/ Ifo/f]u clkm;af^ 

l;h{gf lg=df=lj= x'b} pQ/ hfg] af^f] ;fy} ;f] 

af^f]af^ klZrd tkm{ zflGtdfu{, x'nfs, SofDk; 

dfu{, / /fhdfu{af^ ;'lgn af]xf]/fsf] #/ x'b} 

zflGt dfu{ ;Dd_ * « ]g lgdf{)f 

15,00,000.00 

 
&'nf] of]hgfdf hDdf vr{   87,17,000.00  

 

lg0f{o g+= !( 

;dk'/s sf]ifaf6 ;~rfng x'g] of]hgf -cf=j= @)&#÷&$_ 

 

 cf=j= @)&#÷&$ df DoflrË km08af6 ;~rfng x'g] of]hgfx? 

 

1 pnf{af/L SofDk; k':tsfno ejg lgdf{)f 400,000.00 

 
2 hLjg jrfp ;'wf/s]Gb| ejg lgdf{)f 3,00,000.0 

 
3 /]*qm; ejg lgdf{)f 4,00,000.00 

 
4 r'Kkfemf]*f ;'gemf]*f k}gL afw lgdf{)f j*f g+ 8 400,000.00 

 

5 ;fd'bflos jgsf] ejgb]vL blIf)f tkm{ sNe {̂ 

lgdf{)f j*f g+= 8 

500,000.00 

 
&'nf] of]hgfdf hDdf vr{ 2,000,000.00 

 

;8saf]8{ af6  ;~rfng x'g] of]hgfx? -cf=j= @)&#÷&$_ 

 

 cf=j= @)&#÷&$ df ;8saf]8{af6 ;~rfng x'g] of]hgfx? 

 

1 lhld rf}saf^ %ftf rf}s x'b} vf];f{g] af/L hfg] 

af^f] dd{t ;Def/ j*f g+ 1 

300,000.00 

 

2 l;$]Zj/ lzjfno dlGb/ af^f] dd{t ;Def/ j*f 

g+ 3 

300,000.00 

 
3 sljsf] #/sf] klZrd rf}s af^ pQ/ b]jLemf]*f 6,00,000.00 



x'b} ldDnfh'Ë  hf]8\g] af6f] dd{t ;Def/ 

 
4 *lDkË;fO* hfg] af^f] dd{t ;Def/ j*f g+ 6 400,000.00 

 

5 *'d|] l;/fgaf^ l;?emf/ hfg] af^f] dd{t ;Def/ 

j*f Gf+ 7 

300,000.00 

 
6 s'n'Î rf]s hfg] af6f] dd{t ;Def/  300000.00 

 
&'nf] of]hgfdf hDdf vr{ 2,200,000.00 

 


